SF0509

AR R TR
SFM12ABB
57777 b - AR Bk
—~ 54 -
12
—— | ————
tt
%
=Bia=:
i
214
7 AT
RN M12 x 1
3 FH
A5 AR AR S (R A R
A [°C] -25...80
P [bar] 30
WAk
AR [°C] -25...80
SR
A [°C] -25...80

F

ERE B as VS 0200

T Y [cm/s] 3...300
e R R I A0 e [cm/s] 3...60
SRR

W e Vi [cm/s] 200...2000
o KRB I ST [cm/s] 200...800
A B AR R A KAE [K/min] 15
SN s [ [s] 1...10
Wk

SN [] [s] 1...10
SRR

SN s ] [s] 1..10

‘

TAREA
AN FERT LR IP 67

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669  4x[F 1l 45 4k 400 880 6651 — FAl {5 Ff A UL AT AN AL HHAZSHHF . — ZH-CN — SF0509-00 — 06.03.2003 — &



SF0509

DN LSV TN TIPS
SFM12ABB
IRy &S A
bh5% HR L 5 1
R~ [mm] M12 x 1
BARS M12 x 1
Bk stainless steel (1.4539 / 904L)
ML A stainless steel (1.4539 / 904L)
RGN M12 x 1
Bt
e i w408 1 2 X AMF 30
R
(G312 1
HL A
i 2m, PUR; B4R R ff: 100 m; 5 x 0.34 mm2, PVC
B
WH
/ BU
—~ BN
\ BK
GY
RS,
BK = g
BN = Frhy
BU = Wi,
WH = {6
GY = Kt

DT () AT IRA R o Bldil 408X « i pr615F 154567 « i : 201203, fapl: 0213813 4800 « f411: 021 5027

8669  4x[F 1l 45 4k 400 880 6651 — FAl {5 Ff A UL AT AN AL HHAZSHHF . — ZH-CN — SF0509-00 — 06.03.2003 — &



